Ol &F Ak =
20179 S %% 3 8 sl o
=R
Mg Ta PE(23
NSAd 25 (B9 ®R)
HE - B (3H) - KISAY - BYS 03 o HImEET
= 3,670,600 13,789,763 A119, 163
o] 332,998 332,998 0
= 596,983 540,983 56,000
Al , 740,619 12,915,782 A 175,163
MEQILat RE (25U 865,040 12,975,730 A110,690
| 332,998 332,998 0
= 596,983 540,983 56,000
Al 935,059 12,101,749 166,690
HMSANE 25 831,808 8,851,705 £19,897
| 140,000 140,000 0
= 230,000 230,000 0
Al 461,808 8,481,705 £19,897
TTHASAL 29 913,620 928,800 215,180
203 22 = bl 1,620 1,800 A180
03 AMFTHR=F 1,620 1,800 A 180
OHNSEEYR
2 1,620,0009 1,620 1,800 A180
401 A& I 2 2 O 872,000 867,000 15,000
01 Al& bl 872,000 867,000 15,000
ONOIESE NSAE SXBAHZBTY A
) 2E 290,000,000% 290,000 300,000 210,000
OZJIZ=27 AST USDH(SBY 42)
35 0¥ 0 5,000 A5,000
EN HENB 29 134,488 139,205 ~4,T1T
405 Th&H3 St 3,283 8,000 A4,T1T
01 MU SEFSY 3,283 8,000 ABTIT
OZBREH 7 A2)
2 3,283,0008 3,283 8,000 ABTIT
Mesz x4 033,232 4,124,025 290,793
| 192,998 192,998 0
= 366,983 310,983 56,000
Al 473,251 3,620,044 146,793
% A2 HI S ) &l X 2 334,000 336,000 A2,000
307 2I2H0| & 334,000 336,000 £2,000
04 UAHANLEE 334,000 336,000 A2,000
OH388l Z=A HE X (0NE
2) & 208,000,0002 208,000 209,000 A1,000
OR383l & F Al ) E2u N
oA E ) 2 6,000,0002 6,000 7,000 A1,000
HE SRS HE K 251,217 280,000 £.28,783
307 2I2H0| ® 251,217 280,000 728,783
02 IANFAALEE 241,217 260,000 218,783




A MEdED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
ORM55e ZETUMSUHE It H (Z & XA
A2 2H 241,216,9702 241,217 260,000 A18,783
04 BIDVEH AFALE! B 10,000 20,000 £10,000
ORM55e ZETLMSUH L&A Zyl (o &=
Z) Z & 10,000,000& 10,000 20,000 A 10,000
Stud=Es4did 238,900 240,600 A 1,700
307 gl2tol & 238,900 240,600 A 1,700
04 DIZHHALALSE E X 15,300 17,000 A 1,700
OZ=sY 23 MsUsa HFH(ExZE FY)
(ofl &F& 2H) 24 9,000,000& 9,000 10,000 21,000
OHN54s Z=SEHM=UE &It N (BEXE
HH)(olaEZ) 23 6,300,000 6,300 7,000 AT700
MEXsAEHaskHE 3,240 3,600 A 360
307 21201 A 3,240 3,600 A 360
04 IS AA R 2 3,240 3,600 A360
OMEHSXEI Ha &I X (0aEZ)
& 3,240,000& 3,240 3,600 A 360
SSEUHIFIHZHI XA 54,000 60,000 A 6,000
307 21201 A 54,000 60,000 A 6,000
04 DIZHBAAY B 54,000 60,000 £6,000
OZ2Y HsSUal =IF ZHl NA(0AE2)
Z & 54,000,000& 54,000 60,000 A 6,000
NE2E LU R 13,500 15,000 A 1,500
307 glz2tol & 13,500 15,000 A 1,500
04 QIZFHALAIH E = 13,500 15,000 A 1,500
O NEZ HdZHal ot XA (oaE2)
23 7,400,000 7,400 8,000 A 600
O&= NEE d2Ual &It N (oaEY)
23 1,100,000& 1,100 2,000 A 900
Hd=LECANSOHE HEX& 128,200 142,000 A 13,800
201 L2l 1,800 2,000 A 200
01 At 2t 2l 1,800 2,000 A 200
OXIU3E | &9 HE(0LEZ)
Z & 450,000 450 500 A 50
OXIAUE BRI EEE MHEA(MHLEZ)
23 1,350,000& 1,350 1,500 A 150
307 glz2tol & 126,400 140,000 A 13,600
04 DIZHHALALSE E X 126,400 140,000 A 13,600
Of= ¢ &9 HM=Ua SXoaE2)
2 & 126,400,000& 126,400 140,000 A 13,600
dEHN=UHASHIE 123,500 135,000 A 11,500
307 gl2tol & 123,500 135,000 A 11,500




2AMA: Msdsd
H: YT PE(2IAL2Z/AR)
@4 Ms8d x4 (cho &)
2 A -4 (SH) - HREAY - BES Ol A o4 IR Husz
04 QIZHSH ALA B X 123,500 135,000 A 11,500
02017 Al -2l S0 JHz(o =2
2E 40,500,000& 40,500 45,000 A 4,500
OHM27s] IS UMENSUS &HIH(OAEZ)
2 & 63,000,000 63,000 70,000 A7,000
AQIAAHII S X 11,700 26,000 A 14,300
307 eI2+0l & 11,700 26,000 A 14,300
04 QIZFSH ALALS B X 11,700 26,000 A 14,300
OAlgl A Z2I|Ua Ha(H A=)
2 11,700,000 11,700 26,000 A 14,300
A== HEXA 10,800 12,000 21,200
307 eI2+0l & 10,800 12,000 21,200
04 QIFSH ALAL B X 10,800 12,000 21,200
O&d=Ee NEuA S0 Nz (olarE )
2 9,000,000 9,000 10,000 A 1,000
OZ=el] SUs &IF Z2Hl N (0AE2)
2 1,800,000 1,800 2,000 A 200
A=ZIQMHHNSUHE XA 83,350 95,000 A 11,650
307 eI2+0l & 83,350 95,000 A 11,650
04 QI ALALH B X 83,350 95,000 A 11,650
OM108 EF=ZED|0AH MENE =S50 xH
EME (0l A=) AZE 21,600,000 21,600 24,000 A2,400
OM108 FZ=ZJ|QaH Z2=50 HOIEE
Tl (ol ar =2 A 20,350,0008 20,350 25,000 A 4,650
ONbBEl A= ZIIQAAXA H2SSAUAMNEUS
(Ol At 2H) A 17,100,000 17,100 19,000 A 1,900
ONI408 F=ZEI|QaH 250 ¥ ol=H
LIATHE (Ol aHE ) A 24,300,000 24,300 27,000 22,700
MEHYKIE NS X 49,000 55,000 26,000
307 @I2+0l & 49,000 55,000 26,000
04 QIZHSH ALALS B X 49,000 55,000 26,000
02017 Q= A DI KEHEINICHE HE (OIAE2)
Z3 9,000,000 9,000 10,000 21,000
OHMbgl ezt JZES A (UAEZ)
A& 40,000,0008 40,000 45,000 25,000
20 HSTUEZSOIALELE M2 A0120 3 63,000 70,000 A7,000
307 @I2+0l & 63,000 70,000 A7,000
04 QIZHSH ALA B X 63,000 70,000 A7,000
OHM193 ILXMSANESE OlALEHN 8= ALOI
203 NE(olarE2) 2 & 63,000,000 63,000 70,000 AT7,000
HI22AH3 XA 0 30,000 A30,000
307 eI2+0l & 0 30,000 A30,000




A MEdED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
£ Y- HA(S) - NRMY - BES Ofl & oH I & Hl w&z2
04 DI2HHALALSE E X 0 30,000 A 30,000
02018 =24l 2JIUE AU I (E2YH A
2) 238 0& 0 30,000 A 30,000
LA ESEHHE 18,000 20,000 A 2,000
307 21z2tol ™ 18,000 20,000 A 2,000
04 DIZHHALALSE E X 18,000 20,000 A 2,000
02017 AMMHZESBIHG X2 (0HAEZ)
Z2 & 18,000,000& 18,000 20,000 A 2,000
EZEICI0MNEXSH 45,000 50,000 25,000
307 21201 A 45,000 50,000 A5,000
04 DIZHHALALSE E X 45,000 50,000 25,000
OEZ & 320t 2017 ME (GIA =)
2 & 45,000,000& 45,000 50,000 25,000
St AN E XA 36,000 40,000 A 4,000
307 giz2tol & 36,000 40,000 A 4,000
04 QIZFHALAIH B = 36,000 40,000 A 4,000
OM73 St=UStAZ OIS NE (0 A=)
Z2 & 36,000,000& 36,000 40,000 A 4,000
(D)UHSASZES &) M2 WMIASEUS 10,000 0 10,000
= 10,000 0 10,000
307 21201 A 10,000 0 10,000
< 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
OHMB8s UstIIABTESIE)| M2 WMIASZ0)
(FZHYTE AE) 10,000,000& * 14! 10,000 0 10,000
< 10,000 0 10,000
(Z)2+E8 =3 L HoESEg3IEI U 10,000 0 10,000
< 10,000 0 10,000
307 2Iztol ™ 10,000 0 10,000
< 10,000 0 10,000
04 DI2FHALAISE E X 10,000 0 10,000
O==+=8 =& 2 H23 I=AMAHNOE=ESZE
Jl el (=348 ™ AE)10,000,000& * 14 10,000 0 10,000
< 10,000 0 10,000
(D)zsHsads d438s2 Jul 33,000 0 33,000
S 33,000 0 33,000
201 LBH2EH| 10,000 0 10,000
< 10,000 0 10,000
01 At 2t 2l 10,000 0 10,000
02018 HESHESEE Ha=852 IHES iU
HE(ZZLHEHE AHE) 50,000& = 2004 10,000 0 10,000
< 10,000 0 10,000




A MEdED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
401 Al& Bl & 28I 23,000 23,000
< 23,000 23,000
01 A& HI 23,000 0 23,000
02018 BESH=EH L3882 A M(F
ZHEAE AE) 23,000,000& =« 14 23,000 0 23,000
< 23,000 0 23,000
(D)g=zer2gss20U3 3,000 0 3,000
< 3,000 0 3,000
307 gl2tol & 3,000 0 3,000
< 3,000 0 3,000
04 DIZHHALALSE E X 3,000 0 3,000
ORXN6sl =128 szl (=834 A
AHE) 3,000,000& = 14 3,000 0 3,000
< 3,000 0 3,000
HY2IZH (MSEED)(IIEH/IIEH) 92,277 100,750 28,473
JlEZ3l 92,277 100,750 A8,473
JlE2ztl 92,277 100,750 A8,473
201 Let2d] 32,487 34,450 A 1,963
01 At 22l 32,487 34,450 21,963
OSAMEX R (oaE2) AFZF 1,900,000 1,900 2,700 A 800
OARE =EHI(AU2SEE) 7,050 8,050 A 1,000
—SAI EH(0ArEZ)  AA 1,800,000& 1,800 2,000 A 200
—ZEE EU(SY)(0aEY)
23 2,200,000 2,200 3,000 A 800
OJIEF AF22t2ldl(olarE ) ZFE 707,000 707 900 A 193
oY=t 14,550 14,520 30
— oz 2% 60,0008 * 19 + 1202 7,200 7,140 60
— =S (TN A
23 30,0003 * 1H = 245 7,350 7,380 A 30
202 O4dl 55,890 62,100 26,210
01 = LH 4 Hi 55,890 62,100 AN6,210
OZLHoigl(ofl &t & 2H) Z2 & 38,880,000& 38,880 43,200 A 4,320
oZodl(oaE2) Z2& 17,010,000& 17,010 18,900 A 1,890
203 PR =&l 2,700 3,000 A 300
04 EANSSIHRFEHI 2,700 3,000 A 300
ORMSIIFIHI(0AEZ)
23 2,700,000 2,700 3,000 A 300




